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1
1.1 G.L. -4.000 m
(€H)
G.L. -4.000 m Ph 45.00 kN/m?
G.L. -4.000 m Ph 45.00 kN/m?
q1=10. 000 A
Ph 45. 0(
G.L.  0.000(m) G.L.  0.000(m)
G.L. -4.000(m)
@)
(kNm/m)
1
CLZZ_—P}'} . L2
12
1
=— « Ph - 1. 468=—0. 180 * Ph
12
C1,2=_Cz.1=cz‘3
p I
: 10 _10.558
3L mw-r
-0.180 « Ph
= =0. 0356 * Ph
10 10.558
3+1.468 7 +1.210
1
(bz:_g LNON

=—0.0119 + Ph

FORUMS8




4 2
M1.2:I * (1)1"'? * P o1Cis

= - (0. 0356 « Ph) +
1. 468 1. 468

10. 558
L * $.
7T T

« (=0. 0119 » Ph)+(-0, 180 » Ph)=-0. 099 - Ph

4
=———— + (0.099 * Ph)=0. 104 + Ph
7+ 1.210
PheL MM,
2o L
Ph - 1,468 (-0.099 « Ph)+(0. 196 * Ph)
2 1. 468
Q, = Ph - L +M1.2+M2.1
Mg L
Ph - 1,468 (=0.099 » Ph)+(0. 196 * Ph)
2 1. 468
_Ph-L
_Ph - 1.468

Q.=

=0. 668 + Ph

=0. 800 + Ph

=0.734 + Ph

(kN/m)
Ri=Q1,0+Q1 2
=(0. 104 + Ph)+(0. 668 + Ph)=0. 772 * Ph
Riz=Q2,11Q: 5
=(0. 800 * Ph)+(0. 734 + Ph)=1. 534 + Ph

N=r Ph
=1.210 Ph=1.210 Ph (kN/m)

FORUMS8




(kNm/m)

(1-0)
M_maX:QLg . T_Ml.O

=(0. 104 + Ph) + 1. 210— (0. 099 + Ph)=0. 027 « Ph
1-2)

1
Mmax=Q, , * Xo—E « Ph « Xo™M, ,

1
=(0. 668 + Ph) '0.668——25 + Ph + 0. 668+ (=0, 099 + Ph)=0. 124 - Ph

X0 :Mmax m
_Q
Ph

2-3)

=0. 668

1
MmaXZE;' Ph « L*+M;.:

1
=E§ * Ph - 1. 468+ (=0. 196 « Ph)=0. 074 + Ph

Mmax=0.196x Ph
Rmax=1.534x Ph

N=1.210% Ph
€)
t 2.7 (mm)
AL 39.76 (cm*/m)
ZL 46.00 (cm*/m)
IL  141.00 (cm‘/m)
o la 180.00 (N/mm?)
H H 200x 200x 8x 12
AH 63.53 (cm® )
ZH 472 (cm® )
IH  4720.00 (cm*)
o Ha 180.00 (N/mm?)
4)
N=1.210% Ph

=1.210x 45.00=54.47 (kN/m)

Mmax=0.196x Ph
=0.196% 45.00=8.81 (kN.m/m)

Ph : (kN/m?)
N (kN/m)
Mmax : (kN.m/m)

FORUMS8




o LNa

ola

o LNa={210—1.23(1 —18) } X

o Ha
180
={210—1.23(78. 0~ 18) | X —==116.8 (N/mn’)
o HNa
o HNa=210 (N/mm?)
aLXN . B L XMmax

ol=
ALX gILNa 7ZLX ola
0. 385X 54, 47X 10* 0. 029X 8. 81 X 10°
= . + - =0.08 = 1.00 OK
39. 76 X10°X116.8 46. 00X 10°X 180
3 aHXN B HX Mmax
AH
—| X o HNa — | X gHa
(LH
0. 615X 54, 47X 10° 0.971X8.81X10°
= + =0.11 = 1.00 OK
63. 53X 10° 472, 00X 10°
— | X210.0 [——| X210
1.0
oL
oH
o la : (N/mm?)
o LNa: (N/mm?)
o Ha : (N/mm?)
o HNa: (N/mm?)
N : (N/m)
Mmax : (N.mm/m)
AL (mm?/m)
AH (mm?)
L (mm*/m)
ZH (mm*)
LH m

o L=AL/(AL+AH/LH)
=39.76/(39.76+63.53/1.0)=0.385

o H=(AH/LH)/ (AL+AH/LH)
=(63.53/1.0)/(39.76+63.53/1.0)=0.615

B L=IL/(IL+IH/LH)
=141.00/(141.00+4720.00/1.0)=0.029

B H=(IH/LH)/ (1L+1H/LH)
=(4720.00/1.0)/(141.00+4720.00/1.0)=0.971

FORUMS8



D

H 250x 250x 9x 14
Zx:860.00 (mm*)

P;=1. 542 - Ph=1. 542X 40. 00=61. 7 (kN/m)
Ph=1. 542 X 30. 00=46. 3 (kN/m)
Ph=1. 542 X 20. 00=30. 8 (kN/m)

P;=1. 542 -
Ps=1. 542 -
P,=1. 542

2)

P1

- Ph=1. 542X 10. 00=15. 4 (kN/m)

hi
Tﬁ% RIZF <2P1+P2)

Rx:

P4 - R4
h3=1. 000
P3 - R3
h2=1. 000
P2 - R2
h1=1. 000
K R1
] Ri=E%5-Gﬂﬁ+2Pi)+Eg£(2Pi+PHO
o Rn=JE§L(2Pn+PmO
(kN)
(KN/m)

Px:
hi:

R1=28.27 (kN) [G.L. -3.500m ]
R2=46.26 (kN) [G.L. -2.500m ]
R3=30.84 (kN) [G.L. -1.500m ]
R4=10.28 (kN) [G.L. -0.500m ]

hi(m)
1 1.000
2 1.000
3 1.000

(m

FORUMS8




hi 1 1
Mxi=—o 2P1+Pi+ X__Pi . X2+_ Pi_P1+ . X3
5 ( ) 5 o ( )

1
Pi_\/ E (P12+P1 * P1+1+P1+1Z)

Xoi= * hi
P;—Pia
Mxi:i X
Xoi:i
Mxi (kN.m) Xoi (m)
1 6.75 0.488
2 4.82 0.483
3 2.90 0.472
Mmax

Mmax=6.75 (kN.m)

Mmax
7x
_ 6.75X10°
~860. 00X 10°

=7.85 = o0 Sa =210 (N/mm") OK

0 max=

o max: (N/mm? )
x (mm®)

(kN.m)

(m

FORUMS8



2.2
[1 :6.L. -0.500m ]

tH 300x 300x 10x 15
Zx:1350.00 (mm*)

1)
Ra Rb Rb Ra
L=1. 468
RA RB
Ra=4.9 (kN)
Rb=10.3 (kN)
2)
RA’ =Ra+Rb

=4, 9+10. 3=15. 18 (kN)

Mmax=Rb X L.
=10.3X 1. 468=15. 09 (kN)

Mmax
0 ey
7x
_15.09X 10°
1350. 00 X 10°

=11.18 = o0 Sa =210 (N/mm") OK

o: (N/mm? )
ZX: (mm*)

FORUMS8




[2 :G.L. -1.500m ]

:H 300x 300x 10x 15
Zx:1350.00 (mm*)

1)
Ra Rb Rb Ra
1=1. 468
RA RB
Ra=14.7 (kN)
Rb=30.8 (kN)
2)
RA’ =Ra+Rb

=14. 7+30. 8=45. 55 (kN)

Mmax=Rb X L
=30. 8% 1, 168=15. 27 (kN)

Mmax
O =
7x
_45.27TX 10°
1350. 00 X 10°

=33.53 = oSa =210 (N/mm’) OK

o: (N/mm? )
ZX: (mm®)

FORUMS8




[3 :G.L. -2.500m ]

:H 300x 300x 10x 15
Zx:1350.00 (mm*)

1)
Ra Rb Rb Ra
1=1. 468
RA RB
Ra=22.1 (kN)
Rb=46.3 (kN)
2)
RA’ =Ra+Rb

=22. 1+46, 3=68. 33 (kN)

Mmax=Rb X L
=16. 3% 1. 168=67. 90 (kN)

Mmax
O =
7x
_ 67.90X 10°
1350. 00 X 10°

=50.30 = oSa =210 (N/mm’) OK

o: (N/mm? )
ZX: (mm®)

FORUMS8




- 10 -

[4 :G.L. -3.500m ]

H 300x 300x 10x 15
Zx:1350.00 (mm*)

1)
Ra Rb Rb Ra
1=1. 468
RA RB
Ra=13.5 (kN)
Rb=28.3 (kN)
2)
RA’ =Ra+Rb

=13. 5+28. 3=41. 76 (kN)

Mmax=Rb X L
=28.3x%1.168=11.50 (kN)

Mmax
O:
7x
A4l 50X 10°
1350. 00 X 10°

=30.74 = oSa =210 (N/mm’) OK

o: (N/mm? )
ZX: (mm®)

FORUMS8




- 11 -

2.3
[1 :6.L. -0.500m ]

tH 300x 300x 10x 15
A:118.40 (mm?)

1
N=15.18 (kN)
2)
N
="
A
15, 18X 10°
118. 40X 10

=1 = oSb =210 (N/mm") OK

o: (N/mm? )
N : (kN)
A (mm?)

o Sh

o Sb=210 (N/mm?*)
[2  :G.L. -1.500m ]

tH 300x 300x 10x 15
A:118.40 (mm?)

1
N=45.55 (kN)
2)
N
o=
A
_ 45.55X10°
118. 40X 10

=4 = oSb =210 (N/mm") OK

o: (N/mm? )
I (kN)
: (mm*)

o Sh

o Sb=210 (N/mm?)

FORUMS8




- 12 -

[3 :G.L. -2.500m ]

:H 300x 300x 10x 15
A-118.40 (mm?)

1)
N=68.33 (KN)
2)
N
o=
A
_68.33%10°
118. 40 X 10°

=6 = oSb =210 (N/mm") OK

o: (N/mm? )
I (kN)
A (mm?)

o Sh

o Sh=210 (N/mm?*)
[ 4 :G.L. -3.500m ]

tH 300x 300x 10x 15
A:118.40 (mm*)

D
N=41.76 (kN)
2)
N
o=—
A
41.76X 10°
118. 40X 10°

=4 = oSb =210 (N/mm") OK

o: (N/mm? )
N : (kN)
: (mm?)

o Sh

o Sb=210 (N/mm?*)

FORUMS8
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